Phenotype Data Analysis Plots

PhenoData day range
Analysis cutoff day
NC11 P6

2025-05-24 (Day 49)

5 — 48
48




P6AE

TrussNodeMaxPerStem (Def=4.0 Set=4)

Bl AL A

5 o
4 4 S
3
2
1 -
0 -
T T T T T
0 1 2 3 4 5

Object Number




P6AE

FruitNumAvgPerTruss (Def=15 Set=5)

avgl1=5.0716% avg2=na

PGAE

@ —— 88— ——
o)
@

0 5 10

Object Number

15

TrimFr

FruitNumMaxPerTruss (Def=na Set=7)
avgl1=7.0713% avg2=na

0 5 10 15

Object Number



NdL_Q90AbsY (Def=5 Set=5.34)
avg1=5.34710% avg2=na

6_ [ ) ®
_____________ g ———-
[
4_
[N}
<
©
o
2_
0_
T T T T T
0 5 10 15 20 25
Object Number
LfA_Q90AbsY (Def=0.04 Set=0.06)
avgl1=0. 06" 13% avg2=na
0.06 1@ — = = = = e = t _________ O = — -
¢ [
0.04
0.02 +
0. 00 +
0 5 10 15 20 25

Object Number

LfL_Q90AbsY (Def=40 Set=39.0)
RGAE=PhEnYS bat2=na

40 rge======== I — ===
) o

30 -

20

10

04
T T T T T

0 5 10 15 20 25

Object Number

FrD_avgAbsY (Def=na Set=na)
avg1=42. 0 avg2=na

4o === m————————- ®-———————-
30 -
20 -
10
0-
0 5 0 15 20 25

Object Number

LfL_avgAbsY (Def=na Set=38.0)
avg1=38.0719% avg2=na

50 A
40 ° ..' °
‘__..____._ _____________ e___
% o L)
o
()
20 A
10 A
0_
T T T T T
0 5 10 15 20 25
Object Number
FrV_Q90AbsY (Def=179.5 Set=179.5)
avg1=38. 77 avg2=na
150 ~
100 ~
S04 P
0_
0 5 10 15 20 25

Object Number



LfW _Q90AbsY (Def=30 Set=44.8)
avg1=44.871% avg2=na

50 A @
- = = e o————0——--
40 - ®
30
20 A
10
0_
T T T T T
0 5 10 15 20 25
Object Number
NdD_Q90AbsY (Def=18 Set=14.38)
avgl1=14.3879% avg2=na
¢ °
151 @-————@————————— @——— -
10
5_
0_
0 5 10 15 20 25

Object Number

FrV_avgAbsY (Def=na Set=na)
PGAEIH8enbSvaz-na

40 4 [ —
30 A
20
10
0_
T T T T T
0 5 10 15 20 25
Object Number
NdL_avgAbsY (Def=na Set=5.23)
avgl1=5.2379% avg2=na
67 e's) o
———.. ————————————— 1—. —————
[ )
4_
2_
0_
0 5 10 15 20 25

Object Number

LfA_avgAbsY (Def=na Set=0. 05)
avg1=0. 05733% avg2=na

[
0. 08 ~
o ®
o
0.064 @ o
o o0
0.04 - *
o
0.02 - ®
0. 00 A
T T T T T
0 5 10 15 20 25
Object Number
LfW_avgAbsY (Def=na Set=44.9)
avgl1=44.9710% avg2=na
60 °
00 ° o
40 - o L
o
o
®
20 -
0_
0 5 10 15 20 25

Object Number



FrD_Q90AbsY (Def=70 Set=70) NdD_avgAbsY (Def=na Set=13. 43) NdV_avgAbsY (Def=na Set=6.98)

avgl=42.0 avg2=na PEAEI PHNtBit atg2=na avgl1=6.98735% avg2=na
12.5
o PY @
60 4 15‘_________._____. _________ ._ i 10. 0 4 [ ) °
. ° ° o © ¢
40— mmmmm—————- O-——=————- 10 4 104 O —
[ ] [
5.0 ) ®
20 4 5
2.5+
0 - 0 0.0+
T T T T T T T T T T T T T T T
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25

Object Number Object Number Object Number

NdV_Q90AbsY (Def=12.72 Set=9.15)
avgl1=9.15"17% avg2=na

0]t 2
__________ ‘---------.’____
[ )
5_
0_
0 5 10 15 20 25

Object Number



UF

UF

P6AE-007-10 (fit failed)

BDL [0.61, 0.1, 14.1, 1.0] &
20 o
10 + A@///e/
0
0+ ———— B —_—]
_1 T T T T T T

0 10 20 30 40 50

P6AE-033-4 (fit failed)

BDL [0.65, 3.87, 1.03, 1.0] /
20 4

9/3/

10 i
0
0_-_____::3__\_‘:fm=,,_‘r__

UF

UF

P6AE-014-NdN (fit failed)

BDL [0.6, 0.11, 3.98, 1.0]

20 - gg%
J?{'/,a
] /
0
0 fmmek o WY A W ;4 W
_1 T T T T T T
0 10 20 30 40 50

P6AE-045-12 (fit failed)

BDL [0.56, 2.08, 2.89, 1.0] @g{/
N /

o

N /
0
0 H————= _—_‘\:{{XY;_/’_[_’L__

P6AE-026-25 (fit failed)

20 -

10

BDL [0.56, 3.3, 2.13, 1.0]/

&




P6AEavg 6jﬁt failed)

25 A

20

15 4

10

BDL [0.6, 3.21, 1.53, 1.0]

®

|




PGAE

a (Def=0.56 Set=0.6)
avgl=0. 6 (fail) avg2=0.6

4
Object Number

dm (Def=2 Set=3.21)
avgl :1Dggl<—'ﬁ}\ir||?\| avg2=3. 21

49 o)

__________ O e O ———
3_
22—
1_
0_ O

T T T
0 2 4 6

Object Number

de (Def=5 Set=1.53)
avgl=4.82 (fail) avg2=1.53

14 1

12 4

10

Object Number




PGAE

InitDev_dm (Def=2 Set=4.56)

avgl=4.56 0% avg2=4.56

5 PGAE
- ———————— - ---—-5-- - ---
4_
o)
3_
2
‘]_
0_
0 2 4 6

Object Number

InitD

InitDev_de (Def=5 Set=2.18)
avg1=2.1870% avg2=2. 18

-
N

5

0 2 4 6

Object Number



UF

UF

P6AE-007-10

20 + Linear [0.46, 4.29, -9.31, 0. 99]/
15_ /
10 +
5=
0
0_ ____________ {Eq: 1
_1 T T T T T T
0 10 20 30 40 50
P6AE-033-4
Linear [0.51, 4.61, -9.0, 1.0]
207 )e”/
&
15 1 /)y*?/g
10_ /
5 4am
0
0"'—————————'———_—,—_—/——\;75———
_1 T T T T T
0 10 20 30 40 50

UF

P6AENO14-17
20 4 /’3'/
o7
15 - 'aa/g:r‘r
10_ /
5
Linear [0.42, 5.97, —-14.18, 0.99]
0
g JE Y A —
_1 T T T T T T
0 10 20 30 40 50
P6AE-045-12
20 + ~
/‘ge'/
15 | /
10 A /
5 fr—
Linear [0.42, 5.19, -12.36, 0.99]
0

P6AE-026-25

20 Linear [0.41, 5.18, -12.76, 0.99] /
15 /Qj

10 + /_32/2/

5 i

0

0 J N SN - sl A P S SSI———
i | | | | |

0 10 20 30 40 50



Pf?ﬁl;\?vg

20 ~

15 4

10

Linear [0.43, 5.26, -12.14, 1.0]

oo |




P6AE

a (Def=0.42 Set=0.43)
= ~10? = ~5Y
avgl 0.1§Rleolq¥ﬁ2 0.43 5%

0.5

0.4+

0.3 -

0.2~

0.1+

0.0 -

0 1 2 3 4 5

Object Number




LN

By Plant/Organ Age

By Start Date

45

40

35

30

25

20

15

10

0

-1

0

1.

0.5

0.0 frmmmm e

-0.5 A

0

-1

.0

-1

27.5 30.0 32.5 350 37.5 40.0 42.5 45.0

25.0

.0

1

0.5 -

0.0+

-0.5 A

.0

-1

15 20 25 30 35 40 45

10

27.5 30.0 32.5 350 37.5 40.0 42.5 45.0

25.0



P6AE-007-10

150 -

100

50 A

Linear [3.7, -10.28, 2.78, 0.99]
‘J

-
P

0 10 2I0 3I0 40
P6AE-033-4

150

Linear [3.78, -9.81, 2.59, 0.99]

P6ARHO14-17
Linear [3.19, —0.41, 0.13, 0. 99;;/‘/
100 - J
50
0
L 0t-———- S e Tt
_1 T T T T T T
0 10 20 30 40 50
P6AE-045-12
150 4

Linear [3.71, -8.95, 2.41, 0.99]

P6AE-026-25

150 -

100

50 A

Linear [3.82, -6.7, 1.75, 0.99]




P6AE

a (Def=3 Set=3.75)
B G E B

4_

I e___o___ N

| ]
3
2_
‘]_
0_
T T T T T
0 1 2 3 4 5

Object Number




P6AE

StH

o By Start Date o By Plant/Organ Age

-1.0 : : : : : : : -1.0 . ; . .
15 20 25 30 35 40 45 0 10 20 30 40
1.0 1.0
0.5 -
0.0 fmmmmm e
0.5 - 0.5
-1.0 : : : : : : : -1.0 . ; . .

15 20 25 30 35 40 45 0 10 20 30 40



UF

P6AE-007-10

Linear [0.16, -0.9, 5.7, 0.99]

T T
0 10 20 30

40
P6AE-033-4
4 Linear [0.14, -0.68, 4.78, 0.99]
3 -
2 4
1
0
i 1 B M S i iy 4 i
_1 T T T T T T
0 10 20 30 40 50

P6AENO14-17

Linear [0.18, -0.97, 5.38, 0.99]

/1

4
%

10 2I0 3I0 40
P6AE-045-12

Linear [0.15, —0.72, 4.98, 0.98]

50

P6AE-026-25

Linear [0.15, -0.8, 5.21, 0.99]

4_
3 P
2_ v
14 7
0 4
0fr=——=r=—= N e s
-1 T T T T T
0 10 20 30 40 50



PQAQI;\Iavg

Linear [0.15, -0.55, 3.79, 0.99]




P6AE

175 ~
. 150 4
. 125 4
. 100 A
. 075 ~
. 050
. 025 ~

. 000 -

a (Def=0.14 Set=0.15)
avg1=0.$§ga% av, =0.15"7%

3 4 5 6
Object Number




P6AE

TsN

By Start Date By Plant/Organ Age

-1.0 : : : : : -1.0 : : : : : : : :
20 25 30 35 40 45 0 5 10 15 20 25 30 35 40 45
1.0 1.0
0.5
0.0 frmmmm e
0.5
-1.0 : : : : : -1.0

20 25 30 35 40 45 0 5 10 15 20 25 30 35 40 45



UF

P6AE-007-10T2 (fit failed)

o
L 4

34I. 5 35I. 0 35I. 5
P6AE-014-17T2

Linear [0.8, -13.79, 17.17, 1.0]

20
P6AE-026-25T2

40

Linear [0.3, —-4.8, 15.74, 0.89]

P6AE-007-10T3 (fit failed)

A
W

42I. 5 43I. 0 43I. 5
P6AE-014-17T3

Linear [0.6, -12.93, 21.73, 1.0]

2I0 3I0
P6AE-026-25T3

40

Linear [0.63, —16.96, 26.85, 1.0]

P6AE-014-17T1

Linear [0.25, -0.89, 3.52, 0.83]

0 10 20 30 40

50
P6AE-026-25T1 (fit failed)
4 N v
31©
2
1
0 T T T T T
23 24 25 26 27
P6AE-033-4T1
6 - Linear [0.22, -1.23, 5.58, 0.75]
4
2 l////l
0
0+ -]




P6AE-033-4T2 (fit failed)

UF

31

32

P6AE-045-12T2 (fit failed)

33

34

31

32

33

34

peAEN33-4T3

Linear [0.93, -28.35, 30.55, 0.99]

0 10 20 30 40 50

P6AE-045-12T3 (fit failed)
4_
3_
2_
1_
0 T T T T T

P6AE-045-12T1

Linear [0.68, -7.55, 11.08, 1.0]
/




P6AE

a (Def=0.45 Set=0.61)
avgl= 8 6174 %'\fngZna

BAE
1.0
0.8 - o
° ¢
0.6 f—======= o= F-—mmm
0.4 - +
0.2 -
0.0 -
T T T T
0 2 4 6 8

Object Number




P6AE

FrN

o By Start Date o By Plant/Organ Age

0.5 - 0.5

-1.0 : : : : : : : : -1.0 : : : : : : :
250 27.5 30.0 325 350 37.5 40.0 425 450 0 5 10 15 20 25 30 35 40
1.0 1.0
0.5 1 0.5
0.0 frmmmm e
0.5
-1.0 : : : : : : : : -1.0 : : : : : : :

' 25.0 27.5 30.0 32.5 350 37.5 40.0 42.5 45.0 0 5 10 15 20 25 30 35 40



UF

P6AE-007-10T1Fr1 (fit failed)

0.4 4

0.3 -

0.2

0.1+

0.0

BetaS [2.02, 18.5, 38.02, 45.0, 0.99]
4l
4

3
r 4

1 I0 2I0 3I0 4I0
P6AE-007-10T2Fr5 (fit failed)

50

.20 A

.15 1

.10

. 05 -

[}

.00

O

O

O
@

O

37|.5 40|.0 42|.5 45|.0 47I.
P6AE-014-17T1Fr1 (fit failed)

5

. 08 -

. 06

. 04

.02

@

.00

24 26 28

0.6 - BetaS [1.28, 23.5, 17.02, 22.9, 1.0] —/
pI
0.4
0.2
po
0 il S [N [ —— -
_1 T T T T T T
0 10 20 30 40 50
P6AE-007-10T3Fr1 (fit failed)
. 020 ¢
.015 4
.010 + O
. 005 +
)
. 000 % . . .
42 44 46 48
P6AE-014-17T1Fr5 (fit failed)
BetaS [7.68, 22.5, 53.13, 35.2, 1.0] |/
0.4 v
) 4
Q/””
0.2 S
L/
9
@
4
0_ 0 nge'g
0 S — -
_1 T T T T T T
0 10 20 30 40 50

P6AE-007-10FTMr5 (fit failed)

P6AE-007-10T2Fr1 (fit failed)

0. 25

0. 20

0. 15 -

0.10

0. 05 -

0.00

L]

V)

a ©)

@

3I5 4I0 4I5
P6AE-007-10T3Fr5 (fit failed)

0. 005 ~

0. 004 ~

0. 003 A

0. 002 ~

0. 001 ~

O

O

@

0. 000

44 45 46
P6AE-014-17T2Fr1

4'7
(fit failed)

48

0. 25 -

0. 20

0. 15 -

0.10

0. 05 -

Q

@

0.00




P6AE-014-17T2Fr5

] 10
0.20 BetaS [0.25, 29.82, 12.4, 5.45, 1.0] /
/ o.
0. 15 -
[
/ 0.
0.10 - j/
jp 0
0. 05 A &
o 0
0. 00 a®
0
R U s e —)
_1 T T T T T T 0
0 10 20 30 40 50
P6AE-014-17T4Fr1 (fit failed)
(]
.0020
.0015
.0010
. 0005
]
. 0000 +— . . . .
46.0 46.5 47.0 47.5 48.0
P6AE-026-25T2Fr1 (fit failed)
()
0. 08 -
0. 06 -
O
0. 04 -
0. 02 - =
()
0001l © | | |
32.5 35.0 37.5 40.0 42.5

.0

0

0

.0

.0

.0

.0

0

UF

P6AE-014-17F8Mr1 (fit failed)

175 A

150

125 -

100

075 -

050 -

025

0]

O

0]

O
Q

000

3I6 3I8 40 42
P6AE-026-25T1Fr 1

34

0.6 -

0.4 A

0.2 A

BetaS [1.02, 22.5, 15.51, 18.52, 1.0] ,i

0.0

1|0 2|O 3|0 4|0 5|0
P6AE—026-25T2Fr5 (fit failed)

.10

. 08 A

.06

. 04 4

.02 A

O

0]

.00

35 40 45

P6AE-014-17T3Fr5 (fit failed)

. 030 -

. 025 ~

. 020 ~

. 015

.010 ~

. 005 -

O

0

0]

0]

0]

. 000

(@]

38 40

42 44 46 48

P6AE-026-25T1Fr5

0.3 -

0.2+

0.1+

-
’ o

BetaS [0.31, 27.5, 7.93, 8.14, 1.0]

1|0 2|0 3|0 4|0 5|0
P6AE—026-25T3Fr1 (fit failed)

0. 020 ~

0. 015 ~

0.010 A

0. 005 A

a
L 4

'3
L 4

o

@)

0. 000

42 44 46 48



UF

.012 4 o
.010 +
. 008
. 006 +
O
. 004 4
. 002 +
(¢
000 T T T T T
44 45 46 47 48
P6AE-033-4T2Fr1 (fit failed)
0.3 - BetaS [1.08, 16.5, 27.51, 5.55 1.0] |/
0.2 [
.
0.1 1
ot
Om c-"‘ef@){
0 s E————— - ]
_1 T T T T T T
0 10 20 30 40 50
P6AE-045-12T1Fr1 (fit failed)
.04 0
.03 4
.02 1 ®
.01 1
O
00 T T T T T
23 24 25 26 27

P6AE—-026-25T3Fr5 (fit failed)

P6AE-033-4THEY 1 (fit failed)

. 030 -

. 025 ~

. 020 -

.015 +

. 010 -

. 005 ~

O

. 000

2I4 2I6 2I8
P6AE-033-4T2Fr5 (fit failed)

0. 20

0. 15 -

0.10 -

0. 05 -

0.00

O

(@)

0]

e

40 45
P6AE-045-12T1Fr5

35

0.4~

0.3 A

0.2~

0.1+

0.0

BetaS [0.45, 22.29, 13.33, 9.2, 1.0]

4

P6AE-033-4T1Fr5

BetaS [0.29, 23.5, 14.5, 5.07, 1.0] |/

) 4

@
0.2 - D/
/I
0.1+ /
0_ 0 oo~
% 0 e e e e - e e ey — |
_1 T T T T T T
0 10 20 30 40 50
P6AE-033-4T3Fr1 (fit failed)
0.010 A @)
0. 008 -
0. 006 -
O
0. 004 -
0. 002 -
0.000 -7 | : . ;
44 45 46 47 48
P6AE-045-12T2Fr1 (fit failed)
0.3 A -
BetaS [0.44, 31.5, 12.26, 8.32, 1.0] /
0.2 4
D
0.1+ /
@1
% 0 e e e e e e e e - e e N —————— —
-1 T T T T T T
0 10 20 30 40 50



P6AE-045-12T2Fr5 (fit failed)

.12 4

.10 A

. 08 -

. 06

. 04 1

.02

0

©]

.00

35

40

45

P6AE-045-12F8Mr1 (fit failed)

P6AE-045-12T3Fr5 (fit failed)

(] O

. 006 - . 0014 +
005 A .0012 4

. 0010 +
. 004 +

. 0008
. 003 +

. 0006
.002 49

. 0004 15
. 001 + 0002 A
. 000 T T T T T . 0000 T T T T T

46.0 46.5 47.0 47.5 48.0 46.0 46.5 47.0 47.5 48.0



P6AE

Ymax (Def=1 Set=na)
avgl1=0. 3728% avg2=na

8_
6_
4_
2_
o
of~—t—t———- -—¢—Q——+—-.-—.—.——
0 2 4 6 8 10
Object Number
de (Def=15 Set=15)
avg1=6.8730% avg2=na
40 -
30 A
20 A
I
101 _+ + _I -y
0_
T T T T T
0 2 4 6 8 10

Object Number

tb (Def=na Set=na)

avgRPBAEORAY avg2=na

0 ¢ +
[

e ) e —————— - f——— —‘——

20 A
©)

10
0_

0 2 4 6 8 10

Object Number

dm (Def=18 Set=13.91)
avgl1=13.91713% avg2=na

40 -
)
20 A ] .
--------- B B
o
0_
0 2 4 6 8 10

Object Number



P6AE

By Start Date

1.0

0.5 -

_0.5_

-1.0

1.0

27.5 30.0 32.5 35.0 37.5 40.0 42.5 450

0.5 -

0.0 -

_0.5_

-1.0

25.

0 27.5 30.0 32.5 350 37.5 40.0 42.5 45.0

FrVv

By Plant/Organ Age

1.0

-1.0

10 20 25

1.0

0.5

0.0 frmmmm e

-0.5 A

-1.0

10 20 25



.15 1

.90 A

.25 A

.00 A

.75

.50 A

.25 4

.00

P6AE-007-10L13 (fit failed)

[ [ (4]
L 4 .y N

O
O

0]

1.5 4

1.0 A

0.5

38

40 42 44 46 48

P6AE-007-10L9 (fit failed)

([@SQQ -

______________ S—_—

T T T T T
10 20 30 40 50

P6AE-014-17L17 (fit failed)

9]
O

0]

O

0]

40 42 44 46 48

UF

.00 -

.15

.50 A

. 25 A

.00

© @ o o o o o ©

P6AE-007-1biTf6 (fit failed)

®

[

)

@)

42

a4 46
P6AE-014-17L11

‘ Fag)@lg; —

BetaS [1.15, 14.5, 5.17, 11.68, 0.99]

v | -

0+

-1 -5

0

T T T T T
10 20 30 40 50

P6AE-014-17L19 (fit failed)

35 -
30 -
25 A
20 -
15 +
10
05 -

00

[

@)

46.0

46.5 47.0 47.5 48.0

P6AE-007-10L6 (fit failed)

BoEEeP. -
Al
_J
0.4+ BetaS [0.73, 7.5, 7.05, 9.62, 0.99]
0.2 é
0.0 z
5 0————————————==\j——————————
_1 T T T T T T
0 10 20 30 40 50
P6AE-014-17L14 (fit failed)
o0 |
<O
1. 00 A #© f
- M,
BetaS [1.07, 22.5, 5.91, 8.28, 0.98]
0. 50 y
y
0. 25 - y,
0.00 -
5 0—————————————————Jki——————
_1 T T T T T T
0 10 20 30 40 50
P6AE-014-17L8
| )
\1 OOF@'Q T~ -
0.4- /géﬁﬁf
BetaS [0.55, 11.69, 3.6, 13.5, 0.99]
0.2 - '.'
@)
0.0 -
% 0____________3_1‘__’—___
_1 T T T T T T
0 10 20 30 40 50



FEVNC T .
1.5- s°°
OO
1.0 ~ .
é

0.5_ 7

BetaS [1.59, 18.5, 3.6, 9.23, 0.99]
0.0 ~ Al
5 0 pp————f——————— —j-—\—\——’————

-1

P6AE-026-25L10

0 10 20 30

40 50
P6AE-026-25L7 (fit failed)

0.8 Oobbﬁemxﬁlu
0.6 - ([fak\
0. 4 - Beta$S [?.81, 11.0, 4.92, 9.93, 0.98]
0.2 - 'fﬁ'
0.0 /

= 0————————————:3X]——————————
-1

1.4 4
1.2 -
1.0 4
0.8 -
0.6 -
0.4 -
0.2

0.0

T T T
0 10 20 30

40 50
P6AE-033-4L18 (fit failed)
(0]
@]
46{0 46.5 47{0 4%.5 4é.0

P6AE-026-25i113 (fit failed)

O O
2.0 ® ®
O
@
1.5
O
1.0
0.5 -
0. 0 T T T T T
37.5 40.0 42.5 450 47.5
P6AE—033-4L10
U%G@@Q"
1.0 - dff}
0.5- ¢
BetaS [1.28,.17.79, 3.6, 10.06, 0.99]
0.0 o
0 T m——_——— !'_\—\_1_’—___
_1 T T T T T T
0 10 20 30 40 50
P6AE—033—-4L8
1 OGQQQQG':'
1.0 Al
_J
0.5 - /
(;)O
BetaS [1.22, 12.44, 4.4, 12.14, 1.0]
0.0 - —
0fF————————— .ACTMY—F—————_
_1 T T T T T T
0 10 20 30 40 50

P6AE-026-25L16 (fit failed)

)

O

)

44

45 46 47
P6AE-033-4L15 (fit failed)

48

1.75 A

1.00 ~

0. 75 -

0. 50

O

O
0]
O

O

@)

38

40

T T
42 44 46

P6AE-045-12L10

48

1.5

1.0

0.5 A

BetaS [1.43, 21.04, 3.6, 9.4, 0.99]

¢ FQ-Q.Q-; -

_____________ e

50



.75 A

.50 1

. 25 A

.00 ~

.15 1

.50 A

. 25 A

.00

P6AE-045-12L14 (fit failed)

Q
O
0]

P6AE-045-12117 (fit failed)

42 44 46

o
W

0

UF

.00 -

.75

.90 A

. 25 A

.00

P6AE-045-12L7 (fit failed)

B ERRGO0 -

>~

A

BetaS [1.1, 7.5, 7.48, 9.33, 1.0]

45 46 47

48




P6AE

Ymax (Def=1 Set=1.15)
avgl=1.15728% avg2=na

°

1.5 - o o

__________ O=-@==—— === == ——— -
1.0 O]

®

0.5 o
0.0

0 2 4 6 8 0 12

Object Number

de (Def=12 Set=9.99)
avg1=9.99716% avg2=na

10

____<z_(;_<,_6_i'_1_+ _____ }-

0 2 4 6 8

10 12

Object Number

tb (Def=na Set=na)
avgRGABS 13fA avg2=na

O
20 -
( J
) T @-T———"—————
b4
O
5_
0_
0 4 6 8 10

Object Number

12

dm (Def=12 Set=3.6)
avg1=3.6710% avg2=na

12.5 4

10.0 -
7.5 -
5.0 -
- — -
2.5 -

0.0 -

Object Number



P6AE

By Start Date

1.0

1.0

40

45

0.5 -

40

45

LfA

1.

0.5

-0.5 A

-1

1.

0.5

0.0 -

-0.5 A

-1

0.0 +————a—v ~-- -
T T T T } T T T
0 5 10 15 20 25 30 35
T T T T T T T
0 5 10 15 20 25 30 35

0

0

0

0

By Plant/Organ Age




P6AE

FI_dm (Def=5 Set=3.41)
avg1=3.41717% avg2=3. 277 6%

5
4 o0 P

@ e _04

_________ —_— = D —_
3_____;r___.‘ii;___.__.;E__

®
2_
[
‘]_
0_
T T T T T
0 5 10 15 20 25
Object Number
FrV_de (Def=15 Set=15)
avgl=na avg2=na

0
8_
6_
4_
2_
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.

Object Number

Fl_de (Def=5 Set=3.41)
avg1=3P6KE TRreyg2=3. 27 6%

5
4 o0 PY
1@ e _0g
_________ —_—r = D —_—
2 ______.____.‘f_.____'__..-.ﬁ__
o
2_
o
‘I_
0_
T T T T T
0 5 10 15 20 25
Object Number
FrN_a (Def=0.45 Set=0.98)
avg1=0. 98735% avg2=1.217103%
o
3_
@
2 °
e [
———————————————— ———...———
1—-.--.---.---00---0---0 -------
[ )
0_
0 5 10 15 20 25

Object Number

FrV_dm (Def=18 Set=13.91)
avgl=na avg2=na

1.0
0.8 A
0.6
0.4 -
0.2 -
00 T T T T
0.0 0.2 0.4 0.6 0.8 1
Object Number
FSDdevStage (Def=0.01 Set=0.08)
avg1=0. 08749% avg2=0. 08" 16%
0.15 A 1l. ¢ ¢
0.10 A !lL ¢
»a -.----.---.-.—-.a--"---
0. 05 ~ o®
0. 00 ~
0 5 10 15 20 25

Object Number

0



FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2-na

0.0

0.2

T T
0.4 0.6 0.8

Object Number

FHDdevStage (Def=1.5 Set=1.5)
avgl=na avg2=na

1.

0.0

0.2

T T
0.4 0.6 0.8

Object Number

1.

0

FMBDdevStage (Def=1.3 Set=1.3)
PEAEPleg2=na

FMEDdevStage (Def=1.8 Set=1.8)
avgl=na avg2-na

1.0 1.0
0.8+ 0.8
0.6 0.6
0.4 + 0.4
0.2 + 0.2 +
0.0 T T T T 0.0
0.0 0.2 0.4 0.6 0.8 1.0 0.0
Object Number
NNgen (Def=10 Set=8)
avg1=8.0710% avg2=8.2
10
o ®
8 _=========.======.===.====
o

6_

4_

2_

0_

T T T T T
0 5 10 15 20 25

Object Number

0.2

T T
0.4 0.6 0.8

Object Number

1

0



age=15

LfA: avg vs.

d at each age group

0.06

0. 05 -

0. 04 -

0. 03 -

0.02

0.01

avg

15

20

25

30

35

40

45

50

age=20
0. 07 A avg
0. 06
0. 05 A
0.04 -
0. 03 A
0.02
2I0 2I5 3I0 3I5 4I0 4I5 5I0
d




LfA: model est vs obsOv@Q50

0. 055 ~

0. 050 ~

0. 045 ~

0. 040 ~

0. 035 ~
— 950

est

0. 030 ~ (.

15 16 17 18 19 20
age



30

25 -

20 ~

15 1

10

DeltaTypeAbbr=GrpByAge

—

pcrDelta_avg
pcrDeltaAdj avg

m—

P6AE LfA: D 5d LfA
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

150 150
—4—  pcrDelta_avg —4—  pcrDelta_avg
125 A pcrDeltaAdj avg 125 1 pcrDeltaAdj avg
100 100
75 A 75 -
50 50 -
25 g Y 25
g Y S Y SO AU SO R e e B R L e e S i o P S S
1% Zb 25 Sb 3% 4b 45 Sb 1% Zb 25 Sb 3% 4b 45 5b
d d




P6AE LfA: D_15d_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
120 4! —4—  pcrDelta_avg —b—  pcrDelta_avg 200 - —b—  pcrDelta_avg
pcrDeltaAdj avg 300 - pcrDeltaAdj avg pcrDeltaAdj avg

100 4=
80_ | 200_ 200_
60 '
40 A 100 - 100 +
20 -
e o R e e

15 16 17 18 19 20 15 20 25 30 35 40 45 50 15 20 25 30 35 40 45 50



DeltaTypeAbbr=GrpByAge

| —4—  pcrDelta_avg
30 1 pcrDeltaAdj avg
20 A
10 1 —
g O A AP U AP S —
15 16 17 18 19 20

P6AE LfA: D Q50 LfA
DeltaTypeAbbr=GrpByDay

75 A

50 -

25 -

_25 .

_50 .

——

pcrDelta_avg
pcrDeltaAdj avg

DeltaTypeAbbr=WeiAvgByD

75 -

50

25 A

_25 .

_50 .

—

pcrDelta_avg
pcrDeltaAdj avg

35 40 45 50




P6AE LfA: D_Est_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay % DeltaTypeAbbr=WeiAvgByD
0 S 7 Mo S [ O I N 7 o SN .
-90 A -20 A
| —40 - -40 -
—4—  pcrDelta_avg -60 ‘ —4— pcrDelta_avg -60 7 —4— pcrDelta_avg
| pcrDeltaAdj avg : pcrDeltaAdj _avg ! :/ pcrDeltaAdj _avg

15 16 17 18 19 20 15 20 25 30 35 40 45 50 15 20 25 30 35 40 45 50



LfA: sfDem

—@— sfDem







NdD: avg vs. d at each age group
age=15 age=20
144 44— avg 15 —4—  avg
13
14
12
13 A
11 4
10 4 12 A
9 4 11 4
8 10 -
7_ T T T T T T T 9 T T T T T
20 25 30 35 40 45 50 25 30 35 40 45
d d
age=30 age=35
15
4= avg | 17] 4+ awve
14 1 16 1
15 A
37 14 4
12 4 13 A
12 A
114 1 -
36 38 40 42 44 40 42 44 46 48 50
d d

age=25
15 4 + avg
14 A
13 A
12 A
11 4
30 35 40 45 50
d
age=40
12. 3 + : avg
12. 2 +
12.1 4
p
12.0 A
11.9 ~
11.8 +
43 44 45 46 47
d




NdD: model est vs obsOv@Q50

14 1

12 4

10

\

g50
est

15

20

25 30 35 40
age




DeltaTypeAbbr=GrpByAge

—b—  pcrDelta_avg |
pcrDeltaAd] avg 1
30 A
20 +
10 A
O 1 1 1 1 1 T
15 20 25 30 35 40
d

P6AE NdD: D 5d NdD
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

40
—4—  pcrDelta_avg —4—  pcrDelta_avg
30 4 pcrDeltaAdj avg 20 pcrDeltaAdj avg
20 A
) 20 A 1
10 + !
(1 il e D 10
_10 -
g A A O U SR S ——
20 25 30 35 40 45 50 20 25 30 35 40 45 50
d d



P6AE NdD: D_15d_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
—4—  pcrDelta_avg 60 - —b—  pcrDelta_avg = 60 —b—  pcrDelta_avg T
pcrDeltaAdj avg pcrDeltaAdj avg pcrDeltaAdj avg

40 - 40 -

. 201 20 -
o J A O (OO RO SR SR N
g T A R SRRV U
—-I-_____-I._____-I‘_____-:_____-:______:_ _20_ T T T T T T T T T T T T T

15 20 25 30 35 40 20 25 30 35 40 45 50 20 25 30 35 40 45



DeltaTypeAbbr=GrpByAge

—4—  pcrDelta_avg
10 + pcrDeltaAdj avg
541 3
O+t AN O\ : —
-5 1
1 I5 2I0 2I5 3I0 3I5 4I0

P6AE NdD: D Q50 NdD
DeltaTypeAbbr=GrpByDay

—b—  pcrDelta_avg
20 1 pcrDeltaAdj avg
O+t————e e e e e e e
_20 -
_40 | [
20 25 30 35 40 45 50
d

DeltaTypeAbbr=WeiAvgByD

60 -

—b—  pcrDelta_avg
40 pcrDeltaAdj avg
20 A
0 T3> ————T————T-
—-20 -
_40 | [
20 25 30 35 40 45 50
d




P6AE NdD: D_Est_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
300 1 « —4—  pcrDelta_avg 200 1 —4—  pcrDelta_avg —4—  pcrDelta_avg
250 pcrDeltaAdj avg — pcrDeltaAdj avg 150 - pcrDeltaAdj avg
150 - i
200 A
7| 100 -
150 A 100 \§
100 ) !
50 50 1
50 -
0+t ————— Ot e e —————————— Ot e e ——————————
15 20 25 30 35 40 20 25 30 35 40 45 50 20 25 30 35 40 45 50



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

NdD:

sfDem

—@— sfDem

10

15

20

25

30

35

40







dStH: avg vs. d

3.5

3.0 -

2.5 A

2.0 A

1.5 4

1.0 A

avg

-

1

I .

10

15

20

25 30 35 40

45




dStH: obsAvg vs obsO0v@Q50

| — qg50
- est
| @ avg
/W\ // [ ) B
° o /i/
5 10 15 20 25 30 35 40 45




dStH: D_b5d_StH

50 —4— pcrDelta_avg

5 10 15 20 25 30 35 40 45



dStH: D_15d_StH

80 -

60 -

40 ~

20 ~

—4—  pcrDelta_avg




dStH: D_Q50_StH

20

10 4

_10_

_20 .

—

|

|

|

|

|

|

|

|

|

|

|
——

—

pcrDelta_avg

10

15

20

30

35

40

45




dStH: D_Est_StH

40 - —4—  pcrDelta_avg

20 A

_40 .

20

25

30

35

40

45




.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

dStH:

sfDem

——

sfDem

10

20

25

30

35




40

- 20
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FrV: obsFrV vs obsFrV@Q90

80 -

60

40 -

20 -

q50
FrO1_avg
Fr05 avg

18

20 22 24
age

26

28

30




FrV: D Fr1 FrV

organ|D=1 organl|D=2
—4— dlavg 1.01 —4— dlavg

1. 25 A dlaavg 0.8 dlaavg
1.00 0.6
0.75 - \ 0.4
0. 50 - 0.2 -
0.25 oot I I————T———— S N D
000 e e —! 0.2 - ; ; : ; ;

16 18 20 22 24 26 28 30 16 18 20 22 24

age age



300

250

200

150

100

50

P6AE FrV: D_Fr1_FrV

—
—

pcrDelta_avg
pcrDeltaAdj_avg

36

38

42

44



FrV: D _Ts_FrV

organ|D=1 organ|D=2

—@— d2avg 0.25 1

0.04 7 d2aavg
0. 00

0. 02 +

—=0. 25 A
0.00 = e e e e e e e e e e e o] -0.50 A
—-0. 02 —0.75 A
~0. 04 - ~1-007
=1. 25 A

-0. 04 -0. 02 0.00 0.02 0.04 16 18 20 22 24
age age



P6AE FrV: D Ts FrV

—4—  pcrDelta_avg

—4—  pcrDeltaAdj_avg |

T

B—

42 44 46 48 50



FrV: D_Q50_FrV

organ|D=1
—4— d3avg

0.6 1 —}—  d3aavg
0.4+
0.2 4+—f—F———
0. 0 e e e e -

16 18 20 22 24 26 28 30

age

organ|D=2
0. 0 e ettt
%

-0.2

0.4 j
-0.6

—4— d3avg
~0. 8 1 —}— d3aavg
16 18 20 22 24

age



100

80

60

40

20

P6AE FrV: D_Q50_FrV

—4—  pcrDelta_avg
—4—  pcrDeltaAdj avg |
\
/\
/ -
L
30.0 32.5 35.0 37.5 40.0 42.5 45.0 47.5 50.0



FrV: D _Est FrV

organ|D=1 organ|D=2
L O o i M e e e s L O € e o e B e
-0.2 0.5 4
-0.4
-1.0
-0.6
-1.5 1
-0. 8
—4—  ddavg —4— ddavg
—+—  ddaavg 2.0 A —4—  ddaavg
16 18 20 22 24 26 28 30 16 18 20 22 24

age age



P6AE FrV: D Est FrV

‘///
//—-—/
// _._ pche | ta_an
,__——— —>»— pcrDeltaAdj_avg |
T T
45 46 47 48 49 30



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

P6AE FrV:

sfDem

—O—

sfDem

35

36

37

38

39

40




30 -
31 -
32 -
33 -

40




I
(=2
<

31
33
35
37
4

43
45
47



